Find two linearly independent series solutions of ¥ + x”)' + xy = 0 about x =0
You must find the recurrence relation for the coefficients, as well as the first four non-zero terms of each solution
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SCORE: /13 PTS



= ;,,__EJfXBJ, = i T A L LY a
=2 65439 VBl 5k 2D,
= &%)y
l AN (‘3 S
= \® powvs
- a":O/ar:l: a3:D$au:a‘1=alv_ '
| i e Wl
4.3 7 4o
cQs':D—‘: CQS,’—'a“:CQH. .
Gig® T8 L= 52
Rz T 643
O\IO:"' :___8___._Q g 1 8"52
D o 122 Sl \Oé.ee‘é
- 2 4 .0 2 DRI k- O
2 X — -+ o > A
ﬁ L L__i%yn;—f bt > Z_.n oa7e4>
= " 21. 4, ji__gj‘____ 7 o f_&_-_fl-s...l—i I
435 T SLE4.2.2 045765432
£ ]C = 2n+|
X +L6I) L‘;"i’%
\ nw= ) (BY)‘*’iD |

Bonus

4+ s



Find two linearly independent series solutions of 2xy" — y"+2y =0 about x =0. SCORE: /17 PTS
You must find the recurrence relation for the coefficients, as well as the first four non-zero terms of each solution.
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